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Rocine Lesson 30

DI"I8H RY™IWK
DiP19? NI WK
m;z’gi" wwm
DR TR
Numbers 27:17

Note: For the first time, our lesson verse does not contain a main or independent clause. That is,
the verse cannot stand alone as a complete thought. Yet, the verse contains several dependent
clauses that make for a good studly.
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* Hiphil Yigtol of:
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What we aIready know
ahyifaly xy’-wwx

D309 NJ’ WK
DR TWNI

DN WWN]

Parse the first two verbs. (Note: missing letter rules apply here.)

Root

Stem

Form

PGN

Function

Root meaning
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What we aIready know

D309 NJ’ WK
DR TWNI

ahyifaly xy*-wwx
DRYIY VR

Parse the first two verbs. (Note: missing letter rules apply here.)

Root

Stem

Form

PGN

Function

Root meaning

KRX?

Qal

Yigtol

3ms

Yigtol in dep. clause =
Rel. non-past background

To go out
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What we aIready know

D309 NJ’ WK
DR TWNI

ahyifaly xy*-wwx
DRYIY VR

Parse the first two verbs. (Note: missing letter rules apply here.)

Root Stem Form PGN Function Root meaning
3 | Vigtol Yigtol in dep. clause = T ¢
RY Qa qto 3ms Rel. non-past background 0goou
. Yigtol in dep. cl = .
N2 Qal Yigtol 3ms 1qrotin dep. clatl>e To come in
Rel. non-past background




What we already know
D17 NI TR D17 RYTIWK
DR WK DRI YR

Let’s look at the second line.

e Both of these verbs have suffixes.
— What is the PGN of the suffix?

 There are two signs of the Hiphil Yigtol.
— What are the two signs? (Rocine 29.4a)

— Which one is visible here?



What we already know
D17 NI TR D17 RYTIWK
DR WK DRI YR

Let’s look at the second line.

e Both of these verbs have suffixes.
— What is the PGN of the suffix? 3mp

 There are two signs of the Hiphil Yigtol.

— What are the two signs? (Rocine 29.4a) 1. Patach prefix vowel
2. Dot vowel after 2" root

— Which one is visible here?
Dot vowel after 2" root



What we already know
D17 NI TR D17 RYTIWK

DRI TWR] DRIYT TWR]
N N
Dot vowel Patach Dot vowel Patach

(or I/E Vowel) MISSING (or I/E Vowel) MISSING




What we already know
D17 NI TR D17 RYTIWK

DRI TWR] DRYRT TWR]
AN AN
Dot vowel Patach Dot vowel Patach
(or I/E Vowel) MISSING (or I/E Vowel) MISSING
I-Yod:

Yod changes to a waw in
the Hiphil (and Niphal)




What we already know
D307 N2 IWRT DYiah RYTIWK

DR’ YN DRI YN
/ \ 1 \
Dot vowel Patach Dot vowel Patach
(or I/E Vowel) MISSING (or I/E Vowel) MISSING
I-Yod:

Yod changes to a waw in
the Hiphil (and Niphal)

This waw is actually the
original first root letter.
That’s why |-Yod’s are
often called I-Waw’s.




What we already know

DIIR7 N2 N
oNR? WW'I:SI

.

/

Dot vowel
(or I/E Vowel)

Patach
MISSING

/

Hollow:

Prefix vowel is gamets
(rather than patach)

DII07 RYTIWN

DR'LT TWRI

N

Dot vowel Patach
(or I/E Vowel) MISSING
|-Yod:

Yod changes to a waw in
the Hiphil (and Niphal)

This waw is actually the
original first root letter.
That’s why |-Yod’s are
often called I-Waw’s.




What we already know

DIIR7 N2 N
oNR? WW'I:SI

Dot vowel Patach
(or I/E Vowel) MISSING

/

Holiow:
Prefix vowel is gamets
(rather than patach)

-

DII07 RYTIWN
DXL YR

N

Dot vowel Patach
(or I/E Vowel) MISSING
|-Yod:

Yod changes to a waw in
the Hiphil (and Niphal)

In this example the gamets is reduced to a
shewa because of the pronominal suffix.
Without the suffix, the verb would be

K11,

This waw is actually the
original first root letter.
That’s why |-Yod’s are
often called I-Waw’s.




Hiphil Yigtol of I-Yod

Str?ng I-\ﬁod

Qal Hvp Hiphil ‘mp\ { Qal 20 Hiphil :wﬁ\
3ms ploip) op iy UL
3ts Sopn Sopn 2N ViR
2ms Sopn Sopn 2N Wi
wleiris RPN "2Vn ViR
- SR PAOIPI AWR VIR
3mp ivipl alolp 120" Uik
n370pn n370p0 n32Un IR
mp plelplg piloiplg 12Vn 12N
n370pn n370p0 n33wn NIWin
- ploip PAVIPN mip Utk




Hiphil Yigtol of Hollow

strong ollow

Qal 50p Hiphil ‘mp\ | Qal oip Hiphil mp\
3ms ploip) op Dip? iy
3 Sopn Sopn DIPD ayplg)
2ms Sopn Sopn DIPN ayplg)
Hopn wvlp)s ailply PN
Top 70PN DIPX PR
3mp ivipl alolp Tativ Takip)
n370pn n370P0 plaizly plalzls
2mp plelplg piloiplg yailplg Jaliplg
n370pn n370PE ghiakizle plaleis
- ploip PAVIPN 0PI il




Hiphil Yigtol of Hollow

strong follow

Qal bvp Hiphil '70,7\ { Qal o1p Qal 812 Hiphil mp\
am plelv o Dip? Ri2) o
3t ploiply Sopn DIpD Riam myplg
2m ploiply Sopn DIpD Riam ayplg
Jopn | Yopn iz "Rian T
1cs SopR PAUIPE DIPR RiaN DN
o VP lolp Tativ NI Takipl
e | N3P0pR| MIPOPR| MIMpR| TURER| InpD
o pielply iloiply yailplg IRIAN Jaliplg
e | NI0PR| MIPORR| MImpR| ANEn npn
1ep plofp) pAeTPN 0P Ri1) Pl




Hiphil Yigtol of Hollow

strong Hollow

Qal bvp | Hiphil 'mp\ { Qal o1p Qal 812 A Qal wia Hiphil o1p
plelp Sop? Dip? Ri2) Wi P
ploiply opn DIPD Rian wian ayply
ploiply opn DIPN Rian wian ayplg
Hopn | Opn yaliplq 'Rian Wil PN
Sopr | DOPN DIPN RiIN Wian D'PR
wl BP0 APy IRID Wi )
- | ngP0pm|  Agvpm|  mampR| mNian| o wan| o nmpn
Popn | VPN yailplg IRIAN Wwian Taliplg
- | ngP0pm| ngopm|  mampn| mNian| o wan| o nmpn
Hops PAIP! DIP3 Ria) Wial DDl




Hiphil Yigtol of Hollow

strong Hollow

Qal bvp ‘ Hiphil 5vp | Qal o1p Qal 812 ‘Qal wia Qalow |  Hiphil mp
om Sopr| Do Dip? Ri2) wi D o
« | Sopm| Yvpm|  oDpn|  Nap|  wiap| own|  opn
~|  Sopm| Svpp|  opn|  Kiap|  wviap|  own =iplq
| gopn| YpR|  mpn| NiEAp| win| wbn| o opn
o HopR| Hopx | DpR|  Riag|  wiaR| oz opR
s abopr| a0 | i wid | |
- | N30pR| NIP0PR| MImPR| ANian| mwan)| nnbn| o nnpn
~ [ dopn| W»OpR| mipn| AR | wian | e | i
- | N30pR| NI0pR| MImpn| ANian| mwan) nnbn| o nanpn
W OopIl Hop: DIP] Riay| Wiy iz kPl




